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6.2D  Polynomial Division — Part 1

#1 —S: Find each quotient using polynomial long division and state if the binomial is a factor.
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#6 — 9: Find each quotient using synthetic division and state if the binomial is a factor.
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10. Which of the division problems above (#1 — 9) generate no remainder? What does that mean regarding the
relationship of the polynomials if no remainder occurs when dividing?
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11. Lia, Maut and Craig were working on the following problems during class. Did they do the problems
correctly? If not, explain what they did wrong and fix their mistakes.

Lia Maut Craig
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12. Find the length of the rectangular garden.

x+3 Area = x3 +3x2 -5x—15
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13. Find the length of the base of the triangle below if A = %bh.
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14. Suppose that you know that the area of a rectangular mural (wall painting) in square feet is represented by the
polynomial x2 + 2x — 24 and that the length of the mural in feet if the length is represented by the binomial
X + 6 . How would you calculate the width of the mural? Would it also be a binomial?
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15. If A and B are polynomials and A divided by B equals 5x2 —13x + 47 -
A NS
a) Find B. ( K+ )
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16. Write a‘potynomiat division problem where the use of synthetic division would be an appropriate strategy to

use. Divide the polynomial problem you have written to find the quotient and remainder (if there is one).

(2P~ x 43y + (x-1)
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problem which you cannot use synthetic division to simplify. Explain your
reasoning why synthetic division cannot be used. Divide the polynomial expression you have written to find
the quotient and remainder (if there is one).
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